TEACHER'S GRANT

Chesterfield Public Education Fund P.O. Box 67 Crosswicks, NJ 08515

Thecpef@gmail.com

Your Name(s): Allan Forsyth, Maria Prince, Tim Hart, Kristi Boyle, Marissa Holloway Date of Request: 10/1/2019

SUMMARY OF PROJECT (ONE PARAGRAPH) PLEASE INCLUDE WHO, WHAT, WHY & HOW

We would like to provide our fifth grade students with word study practice that is different than what they typically have been doing. This program can utilize each student's assigned word study sort to help motivate them to be more engaged in their sorts and activities, and allow us to further differentiate their learning to meet their needs.

Although Vocabulary Spelling City helps develop spelling skills to link students' verbal and written language skills, it can also be used to drive effective vocabulary instruction and lead to improved reading comprehension.

The activities available are designed to benefit all students in the general education, ELL, special education, and gifted and talented populations.

The Vocabulary Spelling City app is also available on the Google Play store and therefore also accessible using our Promethean Boards.

DETAILS OF PROJECT (INCLUDE PROJECT SPECIFICS, TARGETED POPULATION, COSTS, ETC.

We are requesting 5 class subscriptions, each supporting a maximum of 25 students.

Each Subscription: \$64.95 Grant Total: \$324.75

EVALUATION (HOW WILL YOU MEASURE STUDENT GROWTH)

ease attach any additional information that would assist the CPEF in making a determination as The automatically generated reports of students activities, provided through the Vocabulary Spelling City program, reflect student understanding, growth, and can help us analyze their progression are well as provide data that can be used for teacher-parent conversations. AMOUNT \$324.75

REQUESTED:

I have discussed this with the following two colleagues:

TEACHER'S GRANT APPLICATION

I have discussed this with the following two colleagues:

NAME:_Leia DeLisa_

Chesterfield Public Education Fund P.O. Box 67 Crosswicks, NJ 08515

Thecpef@gmail.com

Your Name(s)Melissa Chou	Date of Request:October 3, 2019
SUMMARY OF PROJECT (ONE PARAGRAPH) PLEASE INCI	LUDE WHO, WHAT, WHY & HOW
Research shows that allowing students to sit in comformation greatly enhances their focus. In my resource room, I move, yet need to stay at the table for their lessons. help me meet their personal needs. Students would be able to use wobble chairs and focus in my resource room. These options will allow the and allow them to have some movement while still form My project will make a difference because student My resource students will be able to work with more focus and stay comfortable. Both are needed to product the seating option that will be still form to should be offered the seating option that will be se	often have students who need to Increasing their seat choices would sensory seat cushions to help their them to become more comfortable ocusing on the lessons. It needs will be met. Seating options that allows them to uce quality work. I believe that
DETAILS OF PROJECT (INCLUDE PROJECT SPECIFICS, TA	RGETED POPULATION, COSTS, ETC.
Attached to the email	
EVALUATION (HOW WILL YOU MEASURE STUDENT GRO	OWTH)
Students will show academic improvements and will be more engaged in the	eir learning.

Please attach any additional information that would assist the CPEF in making a determination as to your Grant Proposal.

TOTAL GRANT AMOUNT REQUESTED:	\$223.95
-------------------------------	----------

NAME:_Ann Marie Petty_

TEACHER'S GRANT **APPLICATION**

Chesterfield Public Education Fund P.O. Box 67 Crosswicks, NJ 08515

\$2,000 (Aprox)

Thecpef@gmail.com

Your Name(s)	Melissa Midora & Mrs. Stryker		10/10/19
SUMMARY OF PE	ROJECT (ONE PARAGRAPH) PLE	ASE INCLUDE WHO, WH	AT, WHY & HOW
various science events	competitive Science competition that com and experiments, after practicing for mar for higher level critical thinking skills and t	y weeks. This event is taken ve	
DETAILS OF PRO	JECT (INCLUDE PROJECT SPECI	FICS, TARGETED POPUL	LATION, COSTS, ETC.
		r school from 3:30-4:50.	
EVALUATION (H	OW WILL YOU MEASURE STUD	ENT GROWTH)	
Science Olympiad is ex Chesterfield placed 3 rd	valuated on the success of the main compo and 2 nd overall and we expect greater suc	etition in May. In previous years cess this coming year.	s every student medaled,
I have discussed this v	with the following two colleagues:		
NAME:Karen Stryk	er	NAME:Mike Mazzon	ı
Please attach an	y additional information that wo to your Grar		king a determination as
		TOTAL GRANT AMOUNT	±2.000 (A)

REQUESTED:

Please submit completed Grant applications to: Sheino@chesterfield.nj.k12us.com and thecpef@gmail.com

Chesterfield Public Education Fund P.O. Box 67 Crosswicks, NJ 08515

Thecpef@gmail.com

Your Name(s) Danielle Christiansen

Date of Request: 10/31/19

SUMMARY OF PROJECT (ONE PARAGRAPH) PLEASE INCLUDE WHO, WHAT, WHY & HOW

As a character education initiative, we would to do a project called Rockin for Respect. We would like the students to paint rocks in their art classes. After the rocks are painted and dry, we will have the students place them in a "rock" bed along the perimeter of the school. The painted rocks will symbolize the student's unique creativity. The purpose of the project is to respect everyone's own individuality. We would like to promote self-worth. The goal is to keep this project going year after year, and eventually have the school's perimeter outlined in a brightly colored "rock" bed.

DETAILS OF PROJECT (INCLUDE PROJECT SPECIFICS, TARGETED POPULATION, COSTS, ETC.

All students in k-6 grade will participate in this project. The supplies we would need are 762 rocks, a wooden sign in front of the "rock" bed and Americana Patio Paint. This paint will not wash away with rain. I am estimating we need 10 bottles of six colors(blue, red, green, yellow, orange, purple) which will be approximately \$99. We can have the student's bring in their own rocks or you can purchase them(couldn't find an estimate for this.) The wooden sign that I found is on Etsy and it is 44.95, however, I am open to other options.

EVALUATION (HOW WILL YOU MEASURE STUDENT GROWTH)

Aletto 8 20 13/1/19

All character ed initiatives will be measured by the overall climate surveys and a lower rate of confirmed HIB cases.

I have discussed this with the following two colleagues:

NAME: Melody Khalifa

NAME: Jen Feder

Please attach any additional information that would assist the CPEF in making a determination as to your Grant Proposal.

Chesterfield Public Education Fund P.O. Box 67 Crosswicks, NJ 08515

Thecpef@gmail.com

Your Name(s) The Sixth Grade Teachers: Mrs. Ancelo, Mrs. Angelucci, Mrs. Biddle, Mrs. Lydon, Mrs. Sakimura Date of Request: October 29, 2019

SUMMARY OF PROJECT (ONE PARAGRAPH) PLEASE INCLUDE WHO, WHAT, WHY & HOW

113 Sixth Grade Students Fairview Lake Environmental Education Trip February 4-7, 2020 4 Days, 3 Nights

*Please refer to attachments for additional information.

DETAILS OF PROJECT (INCLUDE PROJECT SPECIFICS, TARGETED POPULATION, COSTS, ETC.

This is a unique opportunity for 6th grade students to experience hands-on learning about the natural environment and its relationship to them and their future. It also helps them to develop self-confidence and independence. Fairview Lake has become a "rite of passage" for Chesterfield Elementary students. We would like to request \$25,00 for each student in sixth grade, which is a total \$2,825 for the grade level.

EVALUATION (HOW WILL YOU MEASURE STUDENT GROWTH)

Student Journal Evaluation, Power Point Presentation, Extra Credit Assignment, Observations During Program, Parent Feedback

I have discussed this with the following two colleagues:

NAME: Mr. Mazzoni

NAME:__6th Grade Teachers _

Please attach any additional information that would assist the CPEF in making a determination as to your Grant Proposal.

TOTAL GRANT AMOUNT REQUESTED:

\$2,825

Please submit completed Grant applications to: Sheino@chesterfield.nj.k12us.com and thecpef@gmail.com

Colett J. >

10/28/19

Chesterfield Township School HEALTH OFFICE REPORT – October 2019

Date: November 1, 2019

Student Visits:	Category	Number
	First Aid	195
	Medications	318
	Medical	247
	Other	76
	Counseling	0
	Health Screenings	596
	Health screenings for I&RS or CST	3
	Head lice checks	1
	DYFS	0
	Staff Visits	10
	Parent Communication	38
	Documentation of records	12

Health Office Visits:	Total: 1496	Per Day: 68
Treaten Office visits.	10tal. 1470	Tel Bay. 00

Communicable Diseases:	Disease	Number of cases
2	Strep Throat	2
	Conjunctivitis	1
	Lice	0
	Flu	1
	Impetigo	0
	Ringworm	0
	Chicken Pox	0

Accident Reports	1
Students on daily medication / treatment	16
Telephone Calls to parents for illness or injury at school	40
Attendance Meeting as Attendance Officer	0
Special Services – I&RS, IEP, 504 meetings attended by nurse	0
Telephone calls to Poison Control	0
Students Out of District	5
DYFS	0
Home Visits	0
Students on Homebound Instruction	0

Comments:

- Continued with screenings this month
- DOH audit with 100% compliance
- Staff received flu shots (45+ staff)
- 3 School trips (1st grade, preschool AM and preschool PM)
- EpiPen staff training
- SGOs, PDP
- Practicum instructor from Rowan University came in to observe C. Ramos as part of School Nurse Certification Program

School Nurse: Marylyn Campanella, BSN,RN,CSN	Marylyn Tampanella
Charmaine Ramos, MSEd, BSN, RN	Tharmaine Ramos

Emergency Drill Log for 2019-2020 School Year

Month	Date	Type of Drill
July	July 18, 2019	Fire Drill
	July 29, 2019	Fire Drill
September	September 12, 2019	Fire Drill
	September 16, 2019	Fire Drill
	September 24, 2019	Bus Evacuation
	September 26, 2019	Lock Down Drill
October	October 10, 2019	Fire Drill
	October 24, 2019	Evacuation Drill
November	November 6, 2019	Evacuation Drill
December		
January		
February		
March		
April		
May		
June		

COMPRESSOR STATION ACTION LOG

DATE	INITIAL NOTIFICATION CALL RECEIVED	ACTION TO BE PERFORMED	WEATHER	DISTRICT RESPONSE	FOLLOW-UP NOTIFICATION CALL RECEIVED	NOTES
9-4-19	9:35 AM (Kirk)	Sporadic Venting	Mostly Sunny High 88 (4 PM) Wind SSW 8mph Air Quality: Fair	Shut down outside air ventilation system	1:50 PM (Kirk) Venting Complete	In-service day, no students. No outside activities.
9-6-19	12:30 PM (Kirk)	Venting	Raining 64 degrees Wind NE 10mph Gusts of 18mph Air Quality: Fair	No response	12:43 PM (Kirk) Venting Complete	Due to rain, all students/staff are inside. No outside activities.

Kirk is Kirk Edwards

Monthly Summary of Incidents Report for October 2019

Date	Grade	Infraction	Actions
10/07/2019	05	Misconduct in the cafeteria	Lunch Detention
10/08/2019	05	Disruptive/inappropriate behavior	Lunch Detention
10/08/2019	05	Disruptive/inappropriate behavior	Lunch Detention
10/08/2019	05	Disruptive/inappropriate behavior	Lunch Detention
10/11/2019	05	Jeopardizing the safety of others or order of the school	Out-of-School Suspension - 2 days
10/11/2019	04	Disruptive/inappropriate behavior	Conference with Parent and Administrator
10/18/2019	03	Disruptive/inappropriate behavior	Conference with Parent and Teacher
10/18/2019	05	Misuse of School Property	Administrative Detention
10/22/2019	06	Throwing of Objects	Lunch Detention
10/22/2019	06	Throwing of Objects	NA
10/24/2019	05	Misconduct in the cafeteria	Lunch Detention
10/25/2019	06	Misconduct in the cafeteria	Lunch Detention
10/25/2019	06	Misconduct in the cafeteria	Administrative Detention
10/29/2019	06	Misconduct in the cafeteria	Administrative Detention

Facilities Report November 2019

- Scoreboard in the School Gym has been repaired and is up and running.
- LED Lighting project is about 80% completed and the report will be issued prior to the due date of December 2019. The district can file for an extension if needed.
- A Maintenance Contract will be proposed for the System Controls for our Tiger Flow equipment in the geothermal room on the first floor of the building. Parts were ordered, still waiting on the parts to come in.
- The coil on the HVAC unit above the gym needs to be repaired. Received a quote from CM3 for \$12,288 to replace the coil. Still trying to get another vendor to come out and give us a second quote for the repair.

Andrew Polo Business Administrator October 20, 2019

Work OrderID	Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number
	Action Taken	Priority	2004 1000 VD 0450	Craft	Equipment
13470	Closed Work Orders	10/1/2019	Sue Woodruff	Classroom	30 saddleway
	I have a piece that broke off of my play kitchen. I just need it nailed back on. Also, I would like to have a cork board that I bought hung up behind my desk. If possible!!! Thanks repaired play kitchen	10/4/2019 Medium	Pingitor, Larry	General Maintenance	221
13468	Closed Work Orders	10/1/2019	Angela Manning	Computer Lab	30 Saddle Way
	Do we have any of the student chairs that are on wheels? I would like one, if possible. delivered chair	10/1/2019 Medium	Pingitor, Larry	General Maintenance	209
13467	Closed Work Orders	10/1/2019	Angela Manning	Computer Lab	30 Saddle Way
	Ineed a case of paper, please	10/1/2019	Pingitor, Larry	•	209
	delivered paper	Medium		General Maintenance	
13418	Closed Work Orders	10/1/2019 3:23:53	Robert Carter		30 Saddle Way
	shadula dataile	10/22/2019 Medium	Pingitor, Larry		Fire Exiguishers
	fire extinguishers all checked out ok	40000000000000000000000000000000000000			The Exiguishes
13420	Closed Work Orders	10/1/2019 3:23:54	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	10/16/2019 Medium	Pingitor, Larry	Heating/Ventilatio	UH#1
	unit 1 cleaned and inspected			n /Air Conditioning	Olim I
13421	Closed Work Orders	10/1/2019 3:23:54	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	10/16/2019	Pingitor, Larry		
	unit 2 cleaned and inspected	Medium		Heating/Ventilatio n/Air Conditioning	UH#2
13422	Closed Work Orders	10/1/2019 3:23:54	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	10/16/2019 Medium	Pingitor, Larry	Heating/Ventilatio	UH#3
	unit 3 cleaned and inspected			n /Air Conditioning	OH#3
13423	Closed Work Orders	10/1/2019 3:23:55	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	10/16/2019 Medium	Pingitor, Larry	Heating/Ventilatio	UH#4
	unit 2 cleaned and inspected			n /Air Conditioning	

11/12/2019 7:56:02 AM Page 1 of 12

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number	
	Action Taken	Priority		Craft	Equipment	
13424	Closed Work Orders	10/1/2019 3:23:55	Robert Carter		30 Saddle Way	
	Yearly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	10/16/2019	Pingitor, Larry			
	unit 1 cleaned and inspected	Medium		Heating/Ventilatio n/Air Conditioning	UH#5	
13425	Closed Work Orders	10/1/2019 3:23:55	Robert Carter		30 Saddle Way	
	Yearly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	10/16/2019 Medium	Pingitor, Larry	Heating/Ventilatio	III.	
	unit 6 cleaned and inspected	Median		n /Air Conditioning	UH#6	
13426	Closed Work Orders	10/1/2019 3:23:55	Robert Carter		30 Saddle Way	
	Yearly - PM Schedule created on 1/9/2012 -	10/16/2019	Pingitor, Larry			
	Refer to PM schedule details. unit 7 cleaned and inspected	Medium		Heating/Ventilatio n/Air Conditioning	UH#7	
13427	Closed Work Orders	10/1/2019 3:23:55	Robert Carter		30 Saddle Way	
	Yearly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	10/16/2019 Medium	Pingitor, Larry	Heating N∕entilatio	111140	
	unit 8 cleaned and inspected	Wedian		n /Air Conditioning	UH#8	
13428	Closed Work Orders	10/1/2019 3:23:56	Robert Carter		30 Saddle Way	
	Yearly - PM Schedule created on 1/10/2012 -	10/15/2019	Pingitor, Larry			
	Refer to PM schedule details. unit 9 cleaned and inspected	Medium		Heating/Ventilatio n/Air Conditioning	UH#9	
13429	Closed Work Orders	10/1/2019 3:23:56	Robert Carter		30 Saddle Way	
	Yearly - PM Schedule created on 1/10/2012 -	10/15/2019	Pingitor, Larry			
	Refer to PM schedule details. unit heater 10 cleaned and inspected	Medium		Heating/Ventilatio n /Air Conditioning	UH#10	
13430	Closed Work Orders	10/1/2019 3:23:56	Robert Carter	and proportion to the result of the field of the second	30 Saddle Way	
	Yearly - PM Schedule created on 1/10/2012 -	10/15/2019	Pingitor, Larry		£7	
	Refer to PM schedule details. unit 11 cleaned and inspected	Medium		Heating/Ventilatio n /Air Conditioning	UH#11	
13431	Closed Work Orders	10/1/2019 3:23:56	Robert Carter		30 Saddle Way	
	Yearly - PM Schedule created on 1/10/2012 - Refer to PM schedule details.	10/15/2019	Pingitor, Larry			
	unit 12 cleaned and inspected	Medium		Heating/Ventilatio n/Air Conditioning	UH#12	

11/12/2019 7:56:02 AM Page 2 of 12

Work OrderID	Status Description Action Taken	Request Date Completion Date Priority	Requester Assigned To	Area Type Building Craft	Location Area Number Equipment
13432	Closed Work Orders Yearly - PM Schedule created on 1/10/2012 - Refer to PM schedule details. unit 13 cleaned and serviced	10/1/2019 3:23:56 10/15/2019 Medium	Robert Carter Pingitor, Larry	Heating/Ventilation /Air	30 Saddle Way
13433	Closed Work Orders Yearly - PM Schedule created on 1/10/2012 - Refer to PM schedule details. unit 14 cleaned and inspected	10/1/2019 3:23:56 10/15/2019 Medium	Robert Carter Pingitor, Larry	Heating/Ventilation /Air	30 Saddle Way UN#14
13434	Closed Work Orders Yearly - PM Schedule created on 1/10/2012 - Refer to PM schedule details. unit 15 cleaned and inspected	10/1/2019 3:23:56 10/15/2019 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n /Air Conditioning	30 Saddle Way UN#15
13435	Closed Work Orders Yearly - PM Schedule created on 1/10/2012 - Refer to PM schedule details.	10/1/2019 3:23:56 10/16/2019 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n /Air Conditioning	30 Saddle Way UN#16
13436	Closed Work Orders Yearly - PM Schedule created on 1/10/2012 - Refer to PM schedule details. un17 cleaned and inspected	10/1/2019 3:23:57 10/11/2019 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n /Air Conditioning	30 Saddle Way UN#17
13437	Closed Work Orders Yearly - PM Schedule created on 1/10/2012 - Refer to PM schedule details. un 18 cleaned and inspected	10/1/2019 3:23:57 10/11/2019 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n /Air Conditioning	30 Saddle Way UN#18
13438	Closed Work Orders Yearly - PM Schedule created on 1/10/2012 - Refer to PM schedule details. un 19 unit cleaned and inspected	10/1/2019 3:23:57 10/11/2019 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n /Air Conditioning	30 Saddle Way Un#19
13439	Closed Work Orders Yearly - PM Schedule created on 1/10/2012 - Refer to PM schedule details. unit 20 cleaned and inspected	10/1/2019 3:23:57 10/11/2019 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n /Air Conditioning	30 Saddle Way UN#20

11/12/2019 7:56:02 AM Page 3 of 12

Work OrderID	Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number Equipment
13440	Action Taken Closed Work Orders Yearly - PM Schedule created on 1/10/2012 - Refer to PM schedule details.	Priority 10/1/2019 3:23:57 10/11/2019	Robert Carter Pingitor, Larry	Craft	30 Saddle Way
	unit 21 cleaned and inspected	Medium		Heating/Ventilatio n/Air Conditioning	UN#21
13441	Closed Work Orders	10/1/2019 3:23:57	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 1/10/2012 - Refer to PM schedule details.	10/16/2019 Medium	Pingitor, Larry	Heating/Ventilatio	UN#22
	unit 22 cleaned and inspected	Median		n /Air Conditioning	UN#22
13442	Closed Work Orders	10/1/2019 3:23:58	Robert Carter		30 Saddle Way
	Yearly - PM Schedule created on 1/12/2012 - Refer to PM schedule details.	10/11/2019 Medium	Pingitor, Larry	Plumbing	BFP#1
	inspected by oliver checked out ok				20.10.1
13443	Closed Work Orders	10/1/2019 3:23:58	Robert Carter		30 Saddle Way
20	Monthly - PM Schedule created on 1/26/2012 - Refer to PM schedule details.	10/4/2019 Medium	Pingitor, Larry		Fuel#1
	fuel level for generator 741.00 gallons				1 doin 1
13444	Closed Work Orders	10/1/2019 3:23:59	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 1/30/2012 - Refer to PM schedule details.	10/1/2019 Medium	Pingitor, Larry		Solar 1
	solar readings for September. 476427				Colui i
13448	Closed Work Orders	10/1/2019 3:24:00	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 3/21/2012 - Refer to PM schedule details.	10/9/2019	Pingitor, Larry	11 . 0	
	Sanyo 1checked outok	Medium		Heating/Ventilatio n/Air Conditioning	Sanyo 1
13449	Closed Work Orders	10/1/2019 3:24:00	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 3/21/2012 - Refer to PM schedule details.	10/11/2019 Medium	Pingitor, Larry	Heating/Ventilatio	Canua C
	sanyo 2 checked out ok	didii		n /Air Conditioning	Sanyo 2
13450	Closed Work Orders	10/1/2019 3:24:00	Robert Carter		30 Saddle Way
	Monthly - PM Schedule created on 3/21/2012 - Refer to PM schedule details.	10/11/2019 Medium	Pingitor, Larry	Heating/Ventilatio	Sanyo 3
	sanyo 3 checked out ok			n /Air Conditioning	

11/12/2019 7:56:02 AM Page 4 of 12

Work OrderID	Description	Request Date Requester Completion Date Assigned To Priority		Area Type Building	Location Area Number Equipment	
40454	##### ################################		D. 1-10-1-	Craft	Participated Secretary April V	
13451		10/1/2019 3:24:01	Robert Carter		30 Saddle Way	
	- Refer to PM schedule details.		Pingitor, Larry	Usatis = 0 fs stilets		
	Sanyo 4 runs great thermostat batteries are good	Medium		Heating/Ventilatio n/Air Conditioning	Sanyo 4	
13452	Closed Work Orders	10/1/2019 3:24:01	Robert Carter		30 Saddle Way	
	Monthly - PM Schedule created on 3/21/2012 - Refer to PM schedule details.	10/4/2019 Medium	Pingitor, Larry	Heating/Ventilatio	Sanua E	
	sanyo #5 checked out ok	Wedian		n /Air Conditioning	Sanyo 5	
Description	10/1/2019 3:24:01	Robert Carter		30 Saddle Way		
	- 1 [48] [18] [18] [18] [18] [18] [18] [18] [1	10/11/2019	Pingitor, Larry			
		Medium		Heating/Ventilatio n /Air Conditioning	Sanyo 6	
13454	Closed Work Orders	10/1/2019 3:24:01	Robert Carter	posterio.	30 Saddle Way	
		10/4/2019	Pingitor, Larry			
		Medium		Heating/Ventilatio n /Air Conditioning	Sanyo 7	
13455	Closed Work Orders	10/1/2019 3:24:01	Robert Carter	Springer van State van Ter	30 Saddle Way	
			Pingitor, Larry			
		Medium		Heating/Ventilatio n /Air Conditioning	Sanyo 8	
13456	Closed Work Orders	10/1/2019 3:24:01	Robert Carter		30 Saddle Way	
		10/4/2019	Pingitor, Larry			
		Medium		Heating/Ventilatio n /Air Conditioning	Sanyo 9	
13457	Closed Work Orders	10/1/2019 3:24:02	Robert Carter		30 Saddle Way	
			Pingitor, Larry	Heating/Ventilatio	Serve 40	
	5/11 15 15 15 15 15 15 15 15 15 15 15 15 1	modium		n /Air Conditioning	Sanyo 10	
13458	Closed Work Orders	10/1/2019 3:24:02	Robert Carter		30 Saddle Way	
	Monthly - PM Schedule created on 9/25/2012 - Refer to PM schedule details.	10/1/2019 Modium	Pingitor, Larry	Pofringer-for-	92 1922 8481 92	
	ice machine was serviced by res tech in September before school started	Medium		Refrigeration	Ice Machine#1	

11/12/2019 7:56:02 AM Page 5 of 12

Work OrderID	Status Description Action Taken	Request Date Completion Date Priority	Requester Assigned To	Area Type Building Craft	Location Area Number Equipment
13460	Closed Work Orders Monthly - PM Schedule created on 9/25/2012 - Refer to PM schedule details. fridge 1 cleaned coil normal temp.	10/1/2019 3:24:03 10/4/2019 Medium	Robert Carter Pingitor, Larry	Refrigeration	30 Saddle Way Food Line Refrig #1
13461	Closed Work Orders Monthly - PM Schedule created on 9/25/2012 - Refer to PM schedule details. fridge #2 cleaned coil temp. was normal	10/1/2019 3:24:03 10/4/2019 Medium	Robert Carter Pingitor, Lany	Refrigeration	30 Saddle Way Food Line Refrig#2
13459	Closed Work Orders Monthly - PM Schedule created on 9/25/2012 - Refer to PM schedule details. ipm found mouse in trap in receiving and goe pump room	10/1/2019 3:24:03 10/9/2019 Medium	Robert Carter Pingitor, Larry	Pest Control	30 Saddle Way
13462	Closed Work Orders Monthly - PM Schedule created on 9/25/2012 - Refer to PM schedule details. milk cooler coil was cleaned running ok	10/1/2019 3:24:04 10/3/2019 Medium	Robert Carter Pingitor, Larry	Refrigeration	30 Saddle Way Milk Cooler #1
13463	Closed Work Orders Monthly - PM Schedule created on 9/25/2012 - Refer to PM schedule details. #2 reach in fridge cleaned coils temp. was ok	10/1/2019 3:24:04 10/3/2019 Medium	Robert Carter	Refrigeration	30 Saddle Way Reach In Ref#2
13464	Closed Work Orders Monthly - PM Schedule created on 9/25/2012 - Refer to PM schedule details. #1 reach in fridge temp. was ok coil was cleaned	10/1/2019 3:24:04 10/3/2019 Medium	Robert Carter Pingitor, Larry	Refrigeration	30 Saddle Way Reach In Refrig #1
13465	Closed Work Orders Monthly - PM Schedule created on 12/3/2012 - Refer to PM schedule details. roof no issues found at this time	10/1/2019 3:24:04 10/3/2019 Medium	Robert Carter Pingitor, Larry	=	30 Saddle Way
13472	Closed Work Orders Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details. water room no issues found at this time	10/3/2019 2:05:15 10/3/2019 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n/Air Conditioning	30 Saddle Way
13473	Closed Work Orders Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details. fire pump room no issues found at this time	10/3/2019 2:05:16 10/3/2019 Medium	Robert Carter Pingitor, Larry	Heating/Ventilatio n/Air Conditioning	30 Saddle Way UH#12

11/12/2019 7:56:02 AM Page 6 of 12

Work OrderID	Status Description	Request Date Completion Date	Requester Assigned To	Area Type Building	Location Area Number	
	Action Taken	Priority		Craft	Equipment	
13478	Closed Work Orders Can you please remove the manual pencil sharpers (2) from my classroom. They do not work and students are placing their fingers in them. safety concern Time Available: anytime removed 2 broken pencil sharpeners	10/4/2019 10/4/2019 Medium	Colleen McDermott Pingitor, Larry	Classroom Doors and Hardware	30 Saddle Way 108	
13491	Closed Work Orders There are ants in my room. Can you put ant bait in there? Thank you put some ant bait under teachers desk	10/7/2019 10/7/2019 Medium	Melissa Chou Pingitor, Larry	Classroom Pest Control	30 Saddle Way 224	
13492	Closed Work Orders Can I have an extra student desk please? Time Available: at any time delivered student desk	10/7/2019 10/8/2019 Medium	Timothy Hart Pingitor, Larry	General Maintenance	30 Saddle Way 322	
13482	Closed Work Orders Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details. Playground 1 pulled trash cleaned up rubber mulch	10/7/2019 3:06:57 10/9/2019 Medium	Robert Carter Pingitor, Larry		30 Saddle Way PLAYGROUND#1	
13483	Closed Work Orders Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details. Playground 2 trash was pulling no new issues at this time	Medium	Robert Carter Pingitor, Larry		30 Saddle Way Playground#2	
13484	Closed Work Orders Weekly - PM Schedule created on 2/27/2012 - Refer to PM schedule details. generator twl. 266.5	10/7/2019 3:06:58 10/10/2019 Medium	Robert Carter Pingitor, Larry		30 Saddle Way	
13485	Closed Work Orders Monthly - PM Schedule created on 8/6/2012 - Refer to PM schedule details. vacuum 1 cleaned changed bag belt was ok	10/7/2019 3:06:58 10/16/2019 Medium	Robert Carter Pingitor, Larry	Equipment Maintenance	30 Saddle Way	
13486	Closed Work Orders Monthly - PM Schedule created on 8/6/2012 - Refer to PM schedule details. vacuum 2 cleaned changed bag belt was changed	10/7/2019 3:06:58 10/16/2019 Medium	Robert Carter Pingitor, Larry	Equipment Maintenance	30 Saddle Way Vacuum#2	

11/12/2019 7:56:02 AM Page 7 of 12

Work OrderID	Status Description Action Taken	Request Date Completion Date Priority	Requester Assigned To	Area Type Building Craft	Location Area Number Equipment
13487	Closed Work Orders Monthly - PM Schedule created on 8/6/2012 - Refer to PM schedule details. vacuum 3 cleaned changed bag belt was changed	10/7/2019 3:06:58 10/16/2019 Medium	Robert Carter Pingitor, Larry	Equipment Maintenance	30 Saddle Way Vacuum#3
13488	Closed Work Orders Monthly - PM Schedule created on 8/6/2012 - Refer to PM schedule details. vacuum 4 cleaned changed bag belt was ok	10/7/2019 3:06:59 10/16/2019 Medium	Robert Carter Pingitor, Larry	Equipment Mainten <i>a</i> nce	30 Saddle Way Vacuum#4
13490	Closed Work Orders Weekly - PM Schedule created on 9/10/2012 - Refer to PM schedule details. courtyard grass was cut	10/7/2019 3:06:59 10/8/2019 Medium	Robert Carter Pingitor, Larry	Landscaping	30 Saddle Way Courtyard
13489	Closed Work Orders Monthly - PM Schedule created on 8/6/2012 - Refer to PM schedule details. vacuum 5 cleaned and changed bag	10/7/2019 3:06:59 10/16/2019 Medium	Robert Carter Pingitor, Larry	Equipment Maintenance	30 Saddle Way Vacuum#5
13495	Closed Work Orders Please dis-assemble the black frame for the trampoline. (This can be discarded). Please move the three hoop basketball net to the gyn where Mr. Hickey can use for his adapative PE class. Time Available: 8-4 Removed broken trampoline and disposed of it.	10/8/2019 10/9/2019 Medium	Lori Wisniewski Pingitor, Larry	Classroom	30 Saddle Way Sensory Room B217
13500	Closed Work Orders Dr. Booth asked if you could move the teacher desk in the sensory room to Room 316 upstairs for a new resource teacher. The computer on the teacher desk can be moved to the smaller desk in that room. Time Available: 8-4 Moved desk as requested to room 316 also hung telephone on the wall	10/9/2019 10/9/2019 Medium	Lori Wisniewski Pingitor, Larry	Classroom	30 Saddle Way Sensory Room - 217
13501	Closed Work Orders The motion sensor for the lights in my office is not working consistently. Sometime the lights will not come on for hours Time Available: 8-4 electrician replaced bad censer	10/9/2019 10/28/2019 Medium	Lori Wisniewski Pingitor, Larry	Classroom General Maintenance	30 Saddle Way 325

11/12/2019 7:56:02 AM Page 8 of 12

Work OrderID	Status Description Action Taken	Request Date Completion Date Priority	Requester Assigned To	Area Type Building Craft	Location Area Number Equipment
13506	Closed Work Orders	10/10/2019	Judy Schwartz	Classroom	30 Saddle Way
13300	While I don't want to roast, I feel my heat may	10/11/2019	Pingitor, Larry	Classicom	2333
	not be working properly. Time Available: any	Medium	Filigitol, Larly	Heating/Ventilatio	2333
	adjusted temp.			n /Air Conditioning	
3503	Closed Work Orders	10/10/2019	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 -	10/11/2019	Pingitor, Larry		
	Refer to PM schedule details. fire pump room no issues at this time	Medium		Heating/Ventilatio n /Air Conditioning	UH#12
13502	Closed Work Orders	10/10/2019	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 -	10/11/2019	Pingitor, Larry		
13507	Refer to PM schedule details. water room no issues found at this time	Medium		Heating/Ventilatio n /Air Conditioning	UH#11
13507	Closed Work Orders	10/11/2019	Gwendolyn	Music Room	30 Saddle Way
	One of my two door locks does not unlock.	10/18/2019	McCreary		260
	Time Available: any repaired door lock	Medium	Pingitor, Larry	Doors and Hardware	
3511	Closed Work Orders	10/14/2019	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/16/2011 -	10/16/2019	Pingitor, Larry		
	Refer to PM schedule details.	Medium			PLAYGROUND#1
	cleaned up broken glass and pulled trash no new issues found at this time				
13513	Closed Work Orders	10/14/2019	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/11/2012 -	10/14/2019	Pingitor, Larry		
	Refer to PM schedule details. steamers are delimed by kitchen staff	Medium		Equipment Maintenance	Steamer #1
13512	Closed Work Orders	10/14/2019	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/16/2011 -	10/16/2019	Pingitor, Larry		
	Refer to PM schedule details. playground 2 cleaned up mulch no new problems at this time	Medium			Playground#2
13514	Closed Work Orders	10/14/2019	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 2/27/2012 -	40/24/2040	Pingitor, Larry		
	Refer to PM schedule details.	Medium			Generator
	no test needed at this time				
13515	Closed Work Orders	10/14/2019	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 9/10/2012 -	10/16/2019	Pingitor, Larry		
	Refer to PM schedule details.	Medium		Landscaping	Courtyard

11/12/2019 7:56:02 AM Page 9 of 12

Work OrderID	Status Description Action Taken	Request Date Completion Date Priority	Reque Assig	ester ned To	Area Type Building Craft	Location Area Number Equipment	
13518	Closed Work Orders The carpets in my classroom are very dirty and were not vacuumed. sub never did her rug	10/16/2019 10/16/2019 Medium	Melissa Pingitor,		Classroom Custo dial	30 Saddle Way 220	
13522	Closed Work Orders Please trim the plants outside my lab window. trimmed tree and bushes removed brush took over to township	Medium	Angela M Pingitor	in e m	Computer Lab Grounds	30 saddleway 209	
13520	Closed Work Orders Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details. fire pump room no issues found at this time	10/17/2019 10/18/2019 Medium	Robert C		Heating/Ventilation /Air Conditioning	30 Saddle Way UH#12	
13519	Closed Work Orders Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details. water room pumps were ok	10/17/2019 10/18/2019 Medium	Robert C		Heating/Ventilation /Air Conditioning	30 Saddle Way UH#11	
13528	Closed Work Orders Please remove 2 black book shelves from my classroom. They are empty. Thank you. Time Available: any time moved them to security room 3rd floor	10/21/2019 10/21/2019 Medium	Tanya B Carter, R		Classroom	30 Saddle Way 236	
3525	Closed Work Orders Weekly - PM Schedule created on 2/27/2012 - Refer to PM schedule details. generator TWL run time 267.0	10/21/2019 10/23/2019 Medium	Robert C			30 Saddle Way Generator	
13523	Closed Work Orders Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details. playgrouind 1 pulled trash picked up litter no new problems at tis time	10/21/2019 10/21/2019 Medium	Robert C			30 Saddle Way PLAYGROUND#1	
13524	Closed Work Orders Weekly - PM Schedule created on 2/16/2011 - Refer to PM schedule details. playground 2 cleaned off rubber mulch from blacktop no new problems at this time	10/21/2019 10/21/2019 Medium	Robert C			30 Saddle Way Playground#2	

13526	Closed Work Orders			Craft	Equipment
	Weekly - PM Schedule created on 9/10/2012 -	10/21/2019 10/21/2019	Robert Carter Pingitor, Lany		30 Saddle Way
	Refer to PM schedule details. grass was cut	Medium		Landscaping	Courtyard
13530	Closed Work Orders	10/22/2019	Tanya Bloom	Classroom	30 Saddle Way
	I'm ready to have another black book shelf removed from the classroom. Thank you Time Available: any time	10/22/2019 Medium	Pingitor, Larry	Moving	236
	moved book shelf to security room on the 3rd floor				
13529	Closed Work Orders	10/22/2019	Maria Prince	Atrium	30 Saddle Way
	On Monday, October 27th, the Fifth grade students will be bringing in decorated pumpkins for our 5th Grade Pumpkin Patch Display We need tables set up in the atrium (as done in previous years) by dismissal on Friday. My guess is we would need 6 tables. See Maria	10/28/2019 Medium	Pingitor, Larry	General Maintenance	315
	Prince for details if needed. Time Available: friday tables set up for pumpkin patch				
13533	Closed Work Orders	10/23/2019	Laura DiMeola	Media Center	30 Saddle Way
	Can we please have soap and paper towels in the library bathroom? Thank you	10/23/2019	Pingitor, Larry		203
	replenished soap and towels	Medium		General Maintenance	
13536	Closed Work Orders	10/24/2019	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	10/25/2019 Medium	Pingitor, Larry	Heating ∕Ventilatio	UH#11
	water room no issues found at this time			n /Air Conditioning	S111111
13537	Closed Work Orders	10/24/2019	Robert Carter		30 Saddle Way
	Weekly - PM Schedule created on 1/9/2012 - Refer to PM schedule details.	10/25/2019 Medium	Pingitor, Larry	Heating ∕Ventilatio	1114412
	fire pump room no issues at this time	outuri		n /Air Conditioning	UH#12
13544	Closed Work Orders	10/28/2019	Laura Garofalo	Classroom	30 Saddle Way
	Take old social studies books away (on silver cart in front of Mrs. Biddle's desk) Time Available: any	10/28/2019 Medium	Pingitor, Larry	Moving	b328 biddle
	removed old books and recycled them				
13552	Closed Work Orders	10/31/2019	Laura DiMeola	Media Center	30 Saddle Way
	Can we please have more paper towels in the library office? Thank you replenished paper towels	10/31/2019 Medium	Pingitor, Larry	General Maintenance	203

11/12/2019 7:56:02 AM Page 11 of 12

Work OrderID	Status Description	Request Date Completion Date	Transper and as the street		Location Area Number	
	Action Taken	Priority		Craft	Equipment	
13551	Closed Work Orders	10/31/2019	Robert Carter		30 Saddle Way	
	Weekly - PM Schedule created on 1/9/2012 -	10/31/2019	Pingitor, Larry			
	Refer to PM schedule details.	Medium		Heating/Ventilatio	UH#12	
	Fire pump room no issues at this time			n /Air Conditioning		

11/12/2019 7:56:02 AM Page 12 of 12

E+mon D-mon Meter Readings

Month	Total Generation (kWh) month end	Monthly Generation (kWh)	Cumulative from March 2011	SREC's per month	SREC's Cumulative from March 2011	SREC's sold	Rate per SREC	Total Sale Amount	Date of Sale	Remaining SREC's to sell
February, 2011	2770	2770		-		-	¢c20	£2.100.00	0/0/11	
March, 2011	8330	5560		5		5	\$620	\$3,100.00	9/8/11	
April, 2011	12790	4460		6		6	\$620	\$3,720.00	9/8/11	
May, 2011	18580	5790	25110	7	25	7	\$620	\$4,340.00	9/8/11	
June, 2011	27880	9300	25110	7	25	7	\$100	\$700.00 \$800.00	6/1/12	
July, 2011	36008	8128	33238	8	33 39	8	\$100	- 1000000000000000000000000000000000000	6/1/12	
August, 2011	42832	6824	40062	6	40	6	\$100 \$100	\$600.00	6/1/12	
September, 2011	44594	1762	41824	1	687533	1	T Macanta	\$100.00	6/1/12	
October, 2011	49840	5246	47070	5	45	5	\$100	\$500.00	6/1/12	
November, 2011	52780	2940	50010	3	48	3	\$100	\$300.00	6/1/12	
December, 2011	55662	2882	52892	3	51	3	\$100	\$300.00	6/1/12	
January, 2012	58390	2728	55620	3	54	3	\$100	\$300.00	6/1/12	
February, 2012	62012	3622	59242	3	57	3	\$100	\$300.00	6/1/12	
March, 2012	67228	5216	64458	5	62	5	\$100	\$500.00	6/1/12	
March, 2012	72557	5330	70707	2	64	2	\$122.50	\$245.00	5/28/13	
April, 2012	73557	6329	70787	6	70	6	\$122.50	\$735.00	5/28/13	
May, 2012	80249	6692	77479	7	77	7	\$122.50	\$857.50	5/28/13	
June, 2012	86301	6052	83531	6	83	6	\$135.50	\$813.00	5/28/13	
July, 2012	92564	6263	89794	6	89	6	\$135.50	\$813.00	5/28/13	
August, 2012	98918	6354	96148	7	96	7	\$135.50	\$948.50	5/28/13	
September, 2012	103665	4747	100895	4	100	4	\$135.50	\$542.00	5/28/13	
October, 2012	106951	3286	104181	4	104	4	\$135.50	\$542.00	5/28/13	
November, 2012	109775	2824	107005	3	107	3	\$135.50	\$406.50	5/28/13	
December, 2012	111679	1904	108909	1	108	1	\$135.50	\$135.50	5/28/13	
January, 2013	114506	2827	111736	3	111	3	\$135.50	\$406.50	5/28/13	
February, 2013	117268	2762	114498	3	114	3	\$135.50	\$406.50	12/4/13	
March, 2013	120850	3582	118080	4	118	4	\$135.50	\$542.00	12/4/13	
April, 2013	127875 134826	7025 6951	125105	7	125	7	\$135.50	\$948.50	12/4/13	
May, 2013 June, 2013		6987	132056	7	132 139	7	\$135.50 \$140.00	\$948.50	12/4/13	
· · · · · · · · · · · · · · · · · · ·	141813	4705	139043		Carroxesx		770007-000707070707	\$980.00	12/4/13	
July, 2013	146518		143748	6	143	4	\$140.00	\$560.00	12/4/13	
August, 2013 September, 2013	152478	5960	149708	6	149	6	\$140.00	\$840.00	12/4/13	
October, 2013	158850	6372	156080	7	156	7	\$140.00	\$980.00	12/4/13	
	161905	3055	159135	3	159	3	\$140.00	\$420.00	12/4/13	
November, 2013	165060	3155	162290	3	162	3	\$175.00	\$525.00	6/16/14	
December, 2013	166379	1319	163609	1	163	1	\$175.00	\$175.00	6/16/14	
January, 2014 February, 2014	168122	1743	165352	2	165	2	\$175.00	\$350.00	6/16/14	
March, 2014	169528 173999	1406 4471	166758	1 -	166	1	\$175.00	\$175.00	6/16/14	
April, 2014	173999	5856	171229	5	171	5	\$175.00	\$875.00	6/16/14	
	186024		177085	6	177	6	\$175.00	\$1,050.00	6/16/14	
May, 2014 June, 2014	i livering and the second	6169	183254	8	183	6	\$196.00	\$1,176.00	12/7/14	
	193796	7772	191026		191	8	\$197.00	\$1,576.00	12/7/14	
July, 2014	200195 205793	6399 5598	197425	6	197	6	\$197.00	\$1,182.00	12/7/14	
August, 2014 September, 2014	210414	4621	203023 207644	6	203	6	\$197.00	\$1,182.00	12/7/14	
				4		4	\$197.00	\$788.00	12/7/14	
October, 2014	214312	3898	211542	4	211	4	\$197.00	\$788.00	12/7/14	
November, 2014	216878	2566	214108	3	214	3	\$228.50	\$685.50	6/17/15	
December, 2014	218810	1932	216040	2	216	2	\$228.50	\$457.00	6/17/15	
January, 2015	220903	2093	218133	2	218	2	\$228.50	\$457.00	6/17/15	
February, 2015	223106 226883	2203 3777	220336 224113	4	220	4	\$228.50 \$228.50	\$457.00 \$914.00	6/17/15 6/17/15	
March, 2015										

P:\Amy\2019-2020\Agenda\2020\11-20-19 Agenda\Solar

E+mon D-mon Meter Readings

							·			
May, 2015	239646	6792	236876	6	236	6	\$258.00	\$1,548.00	12/1/15	
June, 2015	245524	5878	242754	6	242	6	\$258.00	\$1,548.00	12/1/15	
July, 2015	252536	7012	249766	7	249	7	\$258.00	\$1,806.00	12/1/15	
August, 2015	259153	6617	256383	7	256	7	\$258.00	\$1,806.00	12/1/15	
September, 2015	263908	4755	261138	5	261	5	\$258.00	\$1,290.00	12/1/15	
October, 2015	268273	4365	265503	4	265	4	\$258.00	\$1,032.00	12/1/15	
November, 2015	271026	2753	268256	3	268	3	\$193.00	\$579.00	8/15/17	
December, 2015	273242	2216	270472	2	270	2	\$193.00	\$386.00	8/15/17	
January, 2016	275363	2121	272593	2	272	2	\$193.00	\$386.00	8/15/17	
February, 2016	277983	2620	275213	3	275	3	\$193.00	\$579.00	8/15/17	<u> </u>
March, 2016	283738	5755	280968	5	280	5	\$193.00	\$965.00	8/15/17	
April, 2016	289130	5392	286360	6	286	6	\$193.00	\$1,158.00	8/15/17	
May, 2016	294478	5348	291708	5	291	5	\$193.00	\$965.00	8/15/17	
June, 2016	302274	7796	299504	8	299	8	\$195.00	\$1,560.00	8/15/17	
July, 2016	308004	5730	305234	6	305	6	\$195.00	\$1,170.00	8/15/17	
August, 2016	314445	6441	311675	6	311	6	\$195.00	\$1,170.00	8/15/17	
September, 2016	319354	4909	316584	5	316	5	\$195.00	\$975.00	8/15/17	
October, 2016	323364	4010	320594	4	320	4	\$195.00	\$780.00	8/15/17	
November, 2016	326569	3205	323799	3	323	3	\$195.00	\$585.00	8/15/17	
December, 2016	328851	2282	326081	3	326	3	\$195.00	\$585.00	8/15/17	
January, 2017	330377	1526	327607	1	327	1	\$195.00	\$195.00	8/15/17	
February, 2017	333530	3153	330760	3	330	3	\$195.00	\$585.00	8/15/17	
March, 2017	337510	3980	334740	4	334	4	\$195.00	\$780.00	8/15/17	
April, 2017	342349	4839	339579	5	339	5	\$195.00	\$975.00	8/15/17	
May, 2017	348015	5666	345245	6	345	6	\$195.00	\$1,170.00	8/15/17	
June, 2017	354910	6895	352140	7	352	7	\$225.50	\$1,578.50	6/21/18) }
July, 2017	360693	5783	357923	5	357	5	\$225.50	\$1,127.50	6/21/18	
August, 2017	367274	6581	364504	7	364	7	\$225.50	\$1,578.50	6/21/18	
September, 2017	371617	4343	368847	4	368	4	\$225.50	\$902.00	6/21/18	
October, 2017	375258	3641	372488	4	372	4	\$225.50	\$902.00	6/21/18	
November, 2017	378337	3079	375567	3	375	3	\$225.50	\$676.50	6/21/18	
December, 2017	380253	1916	377483	2	377	2	\$225.50	\$451.00	6/21/18	
January, 2018	382604	2351	379834	2	379	2	\$225.50	\$451.00	6/21/18	
February, 2018	385186	2582	382416	3	382	3	\$225.50	\$676.50	6/21/18	
March, 2018	389701	4515	386931	4	386	4	\$225.50	\$902.00	6/21/18	
April, 2018	393945	4244	391175	5	391	5	\$225.50	\$1,127.50	6/21/18	
May, 2018	399873	5928	397103	6	397					6
June, 2018	406148	6275	403378	6	403					6
July, 2018	412093	5945	409323	6	409					6
August, 2018	418417	6324	415647	6	415					6
September, 2018	421469	3052	418699	3	418					3
October, 2018	425118	3649	422348	4	422					4
November, 2018	427655	2537	424885	2	424					2
December, 2018	429732	2077	426962	2	426					2
January, 2019	432133	2401	429363	3	429					3
February, 2019	435366	3233	432596	3	432					3
March, 2019	440432	5066	437662	5	437					5
April, 2019	445995	5563	443225	6	443					6
May, 2019	452163	6168	449393	6	449					6
June, 2019	458474	6311	455704	6	455					6
July, 2019	467987	9513	465217	10	465					10
August, 2019	471540	3553	468770	3	468					3
September, 2019	476427	4887	473657	5	473					5
October, 2019	479948	3521	477178		473				1	
						391		\$77,764.50		82

E+mon D-mon Meter Readings

**8/3/12: updated April and June with figures from CEPS website from 24 to 21 SREC's